

COASTAL BEND COLLEGE STUDENT ADVISING — COURSE PLANNING Associate of Arts & Associate of Science



Student's Full Name: BYIONO CYUZ	Cougar ID	#: 424 OD 320U
Contact Phone: 361-563-6963 High School N	ame: Mathis High S	school
Catalog Year: Summer 2014 Major: K	inesiology	
Expected HS Grad Year: 2018 College Ready Status: N	lath o ES□NO Reading of ES□	NO Writing ₩ ES □ NO
After High School graduation I plan to:		
□ Attend Coastal Bend College	Attend a Public 4-Year Univers	sity;
☐ Attend Another 2-Year College;	☐ Attend a Private 4-Year Univer	rsity;
□ Find a Job	☐ Military;	(branch)

Core Component	Course Rubric	Credits Earned	Grade	Term Completed
Communication (6)	ENGL 1301	3	A	Fa/12016
	EN6430Z	3	A	Spr1m2017
Mathematics (3)	MATH314	3	IP	Fa1/2017
Life & Physical Sciences (6)	BLOUBBE	3	A	Serve 20175
	BIOU322	3	## H	Spring2017
v fa ¹ v v v v v v v v v v v v v v v v v v v				
Language, Philosophy & Culture (3)	ENG 0322	3	IP	Fa1/2017
Creative Arts (3)	ARTSBOI	3	5	Fal/2014
American History (6)	HIST 1301	3	A	Fa112016
1	HIST 1302	3	A	Spring 2017
Government/Political Science (6)	GOVT 2305	3	A	Fall 2015
** 1	GOVT 2306	3	B	Soring 200
Social & Behavioral Science (3)	ECON2301	3	A	Spring 2016
Component Area Option (6)	EDUC 1300	3	A	ST 2014
	BCIS 1305	3	CR	2014

Core Component	Course Rubric	Credits Earned	Grade	Term Completed	Ma
Degree Designation Course (3) **	3 4				A Selle Llas
Electives (15)	SPCHBIS	3	4	garing 2015	- Clas
	P3 X 2201	3	A	Fa[12016	
	SOCIBOL	3	A	2018g2017	A. S.
4 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	HUMARI	3	IP	Fa/12017	
				es egyétes 1,0 m s.	A
					27
		V 147			

Total Hours Lef	t to GRADU	ATE:	6

Completing and understanding your academic plan for college will assist you in attaining your higher education goals at Coastal Bend College. Having a signed degree/certificate plan on file with CBC will ensure that you are on the right track to earn a certificate or degree. If you have any further advising questions, please feel free to contact your dedicated advisor (see contact information below).

Dedicated Advisor Name

Email Address: drca & coastal bent cdo

Phone: (361) 354- 2272

Student Signature: Shuma (M)

Date: 9-0-17

Dedicated Advisor Signature:

^{**} Degree Designation Course: To earn an AA degree, student must complete one course from the following core component areas: creative arts, humanities, English, language or philosophy and culture (NOT used to meet the core requirement). To earn an AS degree, student must complete one course from the following core components: science, mathematics or computer science (NOT used to meet the core requirement).

GPA Scores Placement CRUZ BRIANA

Unofficial Transcript								
Transcript type: Undergraduate								
** Test Scores **								
READ MATH WRITE ESSAY MD1 M-ABE R-ABE W-ABE								
TSI 07/16/2014								
354 339 353 4								
TSI 07/01/2015								
353 5								
** End Test Scores **								
Texas Success Initiative								
AREA STATUS EXPLANATION								
Math Incomplete								
Reading Complete TSI 354 09/15/2014								
Writing Complete TSI 353 4 09/15/2014								
No TEC 51.907 Undergraduate drops								
· .								
BCIS1305 Business Comp Appl CR 3.00								
CREDIT BY EXAM								
Undergrad Attempt Earned Points Divisor GPA								
Current Term 0.00 3.00 0.00 0.00 0.00								
Cum Undergrad 0.00 3.00 0.00 0.00 0.00								
Summer I Flex 2014								
EDUC1300 Learning Framework A 3.00 12.00								
Undergrad Attempt Earned Points Divisor GPA								
Current Term 3.00 3.00 12.00 3.00 4.00								
Cum Undergrad 3.00 6.00 12.00 3.00 4.00								
Fall 2014								
-ARTS1301 ART APPRECIATION B 3.00 9.00	į							
Undergrad Attempt Earned Points Divisor GPA								
Current Term 3.00 3.00 9.00 3.00 3.00								
Cum Undergrad 6.00 9.00 21.00 6.00 3.50								
Spring 2015								
SPCH1315 PUBLIC SPEAKING A 3.00 12.00								
Undergrad Attempt Earned Points Divisor GPA								
Current Term 3.00 3.00 12.00 3.00 4.00								
Cum Undergrad 9.00 12.00 33.00 9.00 3.67								
Fall 2015								
COVT2305 FEDERAL GOVERNMENT A 3.00 12.00								
POFI1301 COMPUTER APP I B 3.00 9.00								
Undergrad Attempt Earned Points Divisor GPA								
Current Term 6.00 6.00 21.00 6.00 3.50								
Cum Undergrad 15.00 18.00 54.00 15.00 3.60								
Spring 2016								
ECON2301 PRINC OF MACROECON A 3.00 12.00								
Undergrad Attempt Earned Points Divisor GPA								
Current Term 3.00 3.00 12.00 3.00 4.00								
Cum Undergrad 18.00 21.00 66.00 18.00 3.67								
Spring Flex 2016								
GOVT2306 TEXAS GOVERNMENT B 3.00 9.00								
Undergrad Attempt Earned Points Divisor GPA								
Current Term 3.00 3.00 9.00 3.00 3.00								
Cum Undergrad 21.00 24.00 75.00 21.00 3.57								
Fall 2016								
ENGLIS01 COMPOSITION I A 3.00 12.00								
#HST1301 U.S. HISTORY I A 3.00 12.00								
PSYC2301 GENERAL PSYCHOLOGY A 3.00 12.00	_							
Undergrad Attempt Earned Points Divisor GPA								
Current Term 9.00 9.00 36.00 9.00 4.00								
Cum Undergrad 30.00 33.00 111.00 30.00 3.70								
Spring 2017								

BIOL1322 NUTI	C DIET	THERAP	/I A	3.00	12.00
ENGL1302 COM	COSITION		<u> </u>	3.00	12.00
HIST1302 U.S.	HISTORY	H	A	3.00	12.00
SOCI1301 PRIM	C OF SOC	IOLOGY	A	3.00	12.00
Undergrad	Attempt 1	Earned	Points	Divisor	GPA
Current Term	12.00	12.00	48.00	12.00	4.00
Cum Undergrad	42.00	45.00	159.00	42.00	3.79

Dean's List Summer II 2017

BIOL2306 ENVIRONMENTAL BIOLOG A 3.00 12.00 Undergrad Attempt Earned Points Divisor GPA Current Term 3.00 3.00 12.00 3.00 4.00 Cum Undergrad 45.00 48.00 171.00 45.00 3.80 Fall 2017

NUTR & DIET THERAPYI ** Enrolled ** BRITISH LIT ** Enrolled ** HUMA1301 INTRO TO HUMANITIESI ** Enrolled ** MATH1314 COLLEGE ALGEBRA ** Enrolled

Undergrad Attempt Earned Points Divisor GPA Current Term 0.00 0.00 0.00 0.00 0.00 Cum Undergrad 45.00 48.00 171.00 45.00 3.80

Core Curriculum

010 COMMUNICATION COMPLETED

SPCH1315, ENGL1301, ENGL1302

020 MATHEMATICS

030 NATURAL SCIENCES

COMPLETED

BIOL1322, BIOL2306

040 HUMANITIES

050 VISUAL/PERFORMING ARTS

COMPLETED

ARTS1301

080 SOCIAL AND BEHAVIORAL SCIENCE

GOVT2305, ECON2301, GOVT2306, HIST1301 HIST1302

090 INSTITUTIONAL OPTION

BCIS1305

** END OF TRANSCRIPT **



COASTAL BEND COLLEGE STUDENT ADVISING — COURSE PLANNING Associate of Arts & Associate of Science



Student's Full Name: Alanis Oliva	rez cour	gar ID #: 154003771
Contact Phone: 3101-255-0422 High	School Name: Mathis High	n school
	Major: NUKSING	
Expected HS Grad Year: 2018 College Ready	Status: Math Y ES NO Reading 2Y	ES - NO Writing of ES - NO
After High School graduation I plan to:		
170		
☐ Attend Coastal Bend College	Attend a Public 4-Year U	Iniversity;
☐ Attend Another 2-Year College;	☐ Attend a Private 4-Year	University;
□ Find a Job	□ Military;	(branch)

Core Component	Course Rubric	Credits Earned	Grade	Term Completed	i i
Communication (6)	ENGL 1301	3	A	Fall 2016	e gui vi nii
	ENGL1302	3	B	Spring 2017	
Mathematics (3)					•
Life & Physical Sciences (6)				destribution and the second second	Blow 1322
3		100	14/44/3	Born of Land	BIOL 2306
		ê P		e la	Cico- (se
Language, Philosophy & Culture (3)	ENGL2322	3		Fall 2017	
Creative Arts (3)	ARTS 1301	3	B	Spring 2015	
American History (6)	HIST 1301	3	A	Fall 2016	
	HIST 1302	3 , 5	В	Spring 2017	6
Government/Political Science (6)	GOVT 2305	3		, ,	
	GOVT 2306	3	B	Spring Flex 16	
Social & Behavioral Science (3)	504 1301	3	B	Fall 2016	
Component Area Option (6)	EDUC 1300	3	A	Sommer 1 Flex 2014	
	BCIS 1305	3	cr	By Exam	

Core Component	Course Rubric	Credits Earned	Grade	Term Completed
Degree Designation Course (3) **				Control of the Contro
Electives (15)	PS4 L2361	3	В	spring 2017
	SPCH 1315	3	c	Spring 2017 Sunner 11 2017
	ECEN 1301	3/12	()[A	Fall 2017
	KINE 1346	3		Fall 2017
			i digitar.	And the Marketter and the state of the state
		1		
		12		

Total Hours Left to GRADUATE: 15hrs (5 courses)

Completing and understanding your academic plan for college will assist you in attaining your higher education goals at Coastal Bend College. Having a signed degree/certificate plan on file with CBC will ensure that you are on the right track to earn a certificate or degree. If you have any further advising questions, please feel free to contact your dedicated advisor (see contact information below).

Dedicated Advisor Name

Matthei	sadivar	
Email Address: _	ms adjuare coastalbend ed	2

Phone: (361) 354- 2426

Student Signature: _

Dedicated Advisor Signature:

Date: 9/6/17

Date: 9/6/17

^{**} Degree Designation Course: To earn an AA degree, student must complete one course from the following core component areas: creative arts, humanities, English, language or philosophy and culture (NOT used to meet the core requirement). To earn an AS degree, student must complete one course from the following core components: science, mathematics or computer science (NOT used to meet the core requirement).

Scores GPA Placement APPLIED READ MATH WRITE ESSAY M-DIAG1 M-ABE R-ABE W-ABE TAKEN TSI 07/16/2014 02/02/2015 337 326 OLIVAREZ ALANIS DIANE TSI 08/21/2014 02/02/2015 346 TSI 07/01/2015 09/14/2015 TSI 08/11/2016 09/12/2016 360 5

Unofficial Transcript

```
Transcript type: Undergraduate
** Test Scores **
READ MATH WRITE ESSAY MD1 M-ABE R-ABE W-ABE
TST
     07/16/2014
      326 353
337
TSI
     08/21/2014
346
     07/01/2015
TSI
361
     08/11/2016
TSI
            360
** End Test Scores **
            Texas Success Initiative
AREA
        STATUS
                EXPLANATION
Math
        Incomplete
Reading Complete TSI 361 09/14/2015
 Writing Complete TSI 353 4 02/02/2015
       No TEC 51.907 Undergraduate drops
BCIS1305
           Business Comp Appl
                 CREDIT BY EXAM
    Undergrad Attempt Earned Points Divisor
                 0.00 3.00 0.00 0.00 0.00
 Current Term
                                      0.00 0.00
                 0.00
                             0.00
 Cum Undergrad
                       3.00
               Summer I Flex 2014
                                     3.00 12.00
 EDUC1300 Learning Framework
                             A
    Undergrad Attempt Earned Points Divisor
                 3.00
                       3.00 12.00
                                      3.00 4.00
 Current Term
 Cum Undergrad
                 3.00 6.00 12.00
                                      3.00 4.00
                  Spring 2015
 ARTS1301 ART APPRECIATION
                                     3.00
                              B
    Undergrad Attempt Earned Points Divisor
                                            GPA
                 3.00 3.00 9.00
                                    3.00
                                            3.00
 Current Term
                 6.00 9.00 21.00
                                      6.00 3.50
 Cum Undergrad
                   Fall 2015
                                     3.00
 POFI1301 COMPUTER APP I
                              В
    Undergrad Attempt Earned Points Divisor
 Current Term
                 3.00 3.00
                             9.00
                                    3.00
                                            3.00
                 9.00 12.00 30.00
                                      9.00
                                           3.33
 Cum Undergrad
                Spring Flex 2016
GOVT2306 TEXAS GOVERNMENT
                                     3.00
                              В
    Undergrad Attempt Earned Points Divisor
                             9.00
                                            3.00
              3.00 3.00
                                    3.00
 Current Term
                12.00 15.00 39.00
                                    12.00 3.25
 Cum Undergrad
                   Fall 2016
                                     3.00 12.00
ENGL1301 COMPOSITION I
                              A
                                     3.00 12.00
HIST1301
          U.S. HISTORY I
                              A
SOCI1301 PRINC OF SOCIOLOGY B
                                    3.00
    Undergrad Attempt Earned Points Divisor
                 9.00 9.00 33.00 9.00 3.67
 Current Term
                21.00 24.00 72.00
                                     21.00 3.43
 Cum Undergrad
                  Spring 2017
ENGL1302 COMPOSITION II
                              В
                                     3.00
                                            9.00
                                            9.00
          U.S. HISTORY II
                              В
                                     3.00
```

/HIST1302

PSYC2301

GENERAL PSYCHOLOGY B

3.00

9.00

```
Undergrad Attempt Earned Points Divisor
                 9.00 9.00 27.00 9.00 3.00
  Current Term
               30.00 33.00 99.00
                                 30.00 3.30
  Cum Undergrad
                 Summer II 2017
                                  3.00
                                         6.00
SPCH1315 PUBLIC SPEAKING
                            C
     Undergrad Attempt Earned Points Divisor
                                        GPA
                3.00 3.00 6.00 3.00
                                        2.00
  Current Term
  Cum Undergrad 33.00 36.00 105.00
                                  33.00 3.18
                  Fall 2017
                            ** In Progress **
✓ ECON2301 PRINC OF MACROECON
                            ** In Progress **
✓ ENGL2322 BRITISH LIT
                        ** In Progress **
✓ KINE1346 DRUG EDUCATION
     Undergrad Attempt Earned Points Divisor GPA
                0.00 0.00 0.00 0.00 0.00
  Current Term
  Cum Undergrad 33.00 36.00 105.00
                                   33.00 3.18
 Core Curriculum
 COMPLETED
 010 COMMUNICATION
       ENGL1301, ENGL1302, SPCH1315
  020 MATHEMATICS
 030 NATURAL SCIENCES
  040 HUMANITIES
                                    COMPLETED
  050 VISUAL/PERFORMING ARTS
        ARTS1301
  080 SOCIAL AND BEHAVIORAL SCIENCE
        GOVT2306, HIST1301, SOCI1301, HIST1302
  090 INSTITUTIONAL OPTION
        BCIS1305
             ** END OF TRANSCRIPT **
```